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The ship is indeed resting; it is the water that moves it

OVERVIEW

X217 explained that a 7190 is not considered a n3%7n 1% (despite that it is
moving) and therefore it can serve as a X1 71p. The reason is that we
consider the 771°90 to be at rest, and the water causes it to move. [It is
different from an animal that moves on its own accord.] noo1n will explain
the difference between a 771°90 which is considered Xr>1 11°n, and similar
cases where we consider an object to be moving, even though it is not
moving on its own.

mdoIN anticipates a difficulty:
— o 19195 2199 ©IN T9ITNT 199N (2,39 97 PYITPT NP PI927 20 Yy 9N

Even though that in the first P99 of PwITsP NOonN, the X ) states that a
asn 7ouon who is riding is considered as if he is walking, so how can we say
here that a ship is not a n3%nn 7¥n because of 719 Ynn RPT X177 X, it is not different from

2157 (where the n'"n is sitting [in one place] and the animal is % >vnn) and nevertheless
the 2151 is considered a 727n. Here too the ship should be considered a na%mn 2.

mooIn responds:
— 11599 DY 1Y 0NN NI NMT 15T NINYT P9YW 71N HIRIINN 1> DIVN 98N XN

Here we are discussing 921 1°1p, which was added as a mode of 1P as an
adjunct of 75, and indeed the 7¥n1 is similar to 7%, in the sense that the 73

indeed rests and is carried along with the body;3 similarly the ship rests and is
carried along by the water.”

mooin will show another case where (we are also not discussing 2°11p, and), different
criteria are used to judge whether something is considered at rest
— (N NN M7 0w 3,0 91 NAYT NNIP 9991 129

And similarly in the first 9 of naw noon, the x»3 states -

' One is required to stand up if his teacher (127) is walking before him (but not if he is sitting. The X723
ruled that if 127 was riding (even though he is sitting) it is considered as if he is walking and one is
obligated to stand up.

% The 77N writes (3,20 [ vown] Nnw) regarding a 72°13 that A1 72°137 17°2 R¥™N X¥H7 oX. The Xma (on 2,°)
derives from the words &x¥nn Xx»77 that not only is his 7112 7> (the 772°13), but also his 7¥17 as well.

? See “Thinking it over’.

* However, concerning a 2127 11"n (which has no connection to 7° 11p), there different criteria are used to
judge him a 797n since he is actually moving (towards the 77n).
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A walnut floating on top of the water is not considered at rest;> what is
the ruling concerning a walnut in a vessel which is floating on the

water®. Seemingly there too it should be considered at rest and it is the water that is
moving (the walnut or the utensil). Why does the X713 maintain that the walnut is not at
rest?

mooIn explains:
— 19993 J9YNN NINYNT NIMITT DIVN ONN

There the 13X is not considered at rest because we require that all noxo»

naw be similar to 9wt noRYA -
— ITINN) PIFINN DXV 1272 DINON PYIINM 1N N

And by the 12wn they would not put away articles in something which

moves and shakes -
P YT NIT RNV 11D NP *a) 5an

However concerning acquisition since it is similar to his hand, it
acquires (even though there is movement), just as there is movement by the hand.

SUMMARY

Objects that move not of their own accord, are considered moving and not at
rest; however concerning %1 %3P, an object which moves not of its own
accord (as an animal), but rather by something else (like a ship), is not
considered moving because it is similar to 7> which is moved by the body.

THINKING IT OVER

It seems that N1©01N maintains that since the 7> moves because of the body,
therefore the 7 is not considered namn.” It would appear that the body is
na%an. Why therefore is the ruling that if a v is placed in the hand of her
servant, she is not nWA» since this is a NI%n 2x7; the hand as MdOIN states
is not N37nn. Similarly if one would place the vx on the woman’s head, she
would not be nw7an, since the woman is a n2%nn, but this is definitely not
so! How can we understand mooin?!®

> On naw one is liable for 70397 ,7XXY7 or MM '7 72vn provided that the article is eventually placed down
and resting (7m371). If one carried an MR and made the 7M1 on water, it is not considered a 7117 and there is
no 2vn for (xn’ﬁmm) Naw3a 7R MOK.

% Would there be a 271 if he made the 7m37 of the Max in a *3 which was floating on the water. It is not clear
why it was necessary for N1901n to cite this query. [See »"m1 and 10 NIX 7"210.]

7 See footnote # 3.

¥ See X"y 0"wn 1193 here on MO and "MK # 67-8.
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